
(Duet, Grade 1 - Josquin des Prez)
80. Credo from Missa de Beata virgine

Enriquez de Valderrábano
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
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






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


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
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
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













55 










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


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


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60 





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
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
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
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











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
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
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110 


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
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
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


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




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
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
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
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
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










































115 



















































120 















































































































































































































125 










































130 







































135 































































































































































































140     











145 























 150 

















































































































































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











































155 








































160 












































































































































































































165 





























 



170 


































175 



 

























































































































































































180 















































185 
























































































































































































190 






































195 








































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



























































































































































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